HEEX A : S ANV
RIER: F/M30F8A1H

&2 AEBH A=
Tm 50cm Ocm

1 N EAES] 0.086 0.118 0.112
2 S/INEBRIRKTR 0.102 0.106 0.124
3 EBYBRTIL-F050 0.098 0.098 0.104
4 BYBTREL 0.082 0.084 0.068
5 REEXE 0.084 0.090 0.094
6 ABEEEREL 0.082 0.094 0.080
7 ABEEEEmREL 0.128 0.130 0.174
8 BEREMKTR 0.086 0.084 0.088
9 BYBTIL-F/9Q 0.090 0.108 0.118
10 |REARKIRD 0.094 0.102 0.086
11 BREEMEL 0.088 0.084 0.114
12 REEMRAKITRD 0.074 0.092 0.096
13 |RERMAKTRQ 0.096 0.100 0.098
14 |RERMRKIRQ 0.098 0.102 0.090
15 REEMKIRD 0.098 0.104 0.112
16 |REARAKIROQ 0.102 0.126 0.138

&XE 0.128 0.130 0.174

=/ME 0.074 0.084 0.068

FHiE 0.093 0.101 0.106




